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Zadanie 1

Dana jest rama

L

[E£J=const, EA=o0]

obcigzona sitami P.

Znalez¢é moment

w utwierdzeniu A
metoda przemieszczen.
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(For the given frame

2/

loaded by the forces P

N~

Q)

=

find the bending moment

at the clamped edge A
using the
displacement method)

Zadanie 2

Dany jest ruszt przegubowy
obcigzony jak na rys.
Znalez¢ wykres

momentow zginajacych.

(For the given

system of beams

loaded as shown

in the figure

find the diagram

of the bending moments)

Zadanie 3

Dana jest rama

jak na rysunku.

Zapisa¢ rbwnania macierzowe
metody przemieszczen

(For the given frame
write down the matrix equations
of the displacement method.)
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